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- Fault Starts: 11978702 — — — - [———\_ ]
—Fault Ends: 2.8028663 -
oHtocatStresses . _—  — - - - i
[ Shot: 3107, Param. Tree 72 ]
[ IDL: Max= 135.140, Min= -8.26106e-06 -
 OHCoilStress, Upper_Tresca (normal, circular) 7
35.13981, Min=-8.2610636e-06 ]
*********** N S
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- Fault Starts: 11978702 — — — — . [———\_ S
—Fault Ends: 2.8028663 -
oHtocatStresses ———————— _—  — - - - i
[ Shot: 3107, Param. Tree 72 ]
[ IDL: Max= 135.143, Min= -
- OHCoilStress, Upper_Tresca (post. dis., circ.) 7
35.13566, Min=-7.6543115e-06 _
*********** S
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time
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- Fault Starts: 11978702 — — — - [———\_ S
—Fault Ends: 2.8028663 -]
oHtocatStresses ————————— _— — ~ ~ — — = i
[ Shot: 3107, Param. Tree 72 ]
[ IDL: Max= 135.140, Min= -
~Tresca (post. dis., shaped.) 7
35.13372, Min=-6.5317125e-06 _
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OH Local Stresses

Shot: 3107, Param. Tree 72

IDL: Max= 101.479, Min=-6.09870e-06
OHCoilStress, Upper_Hoop (normal, circular)
DCPS: Max= 101.47939, Min= -6.0987012e-06

OH Local Stresses

Shot: 3107, Param. Tree 72

IDL: Max= 101.482, Min= -5.55368e-06
OHCoilStress, Upper_Hoop (post. dis., circ.)
DCPS: Max=101.47660, Min= -5.5541342e-06

OH Local Stresses

Shot: 3107, Param. Tree 72

— IDL: Max=101.480, Min=-5.95091e-06
_OHCoiIStress, Upper_Hoop (post. dis., shaped.)
DCPS: Max=101.47511, Min=-4.7766926e-06
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E Fault Starts: 11978702~~~ - [———~ -
—Fault Ends: 2.8028663 —
OFtocat Stresses .~  — — — — = ]
[ Shot: 3107, Param. Tree 72 ]
[ IDL: Max= 135.115, Min= -2.62456e-06 —
- OHCoilStress, Lower_Tresca (normal, circular) 7
35.11524, Min= -2.6245607e-06 T
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time
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- Fault Starts: 11978702 — - - [——— gl
—Fault Ends: 2.8028663 —
OrtocatStresses .~ — — — — = ]
[ Shot: 3107, Param. Tree 72 ]
L IDL: Max= 135.117, Min= —
 OHCoilStress, Lower_Tresca (post. dis., circ.) 7
35.11366, Min= -2.9230399e-06 ]
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- Fault Starts: 11978702 — - - [——— gl
—Fault Ends: 2.8028663 —
OFtocatStresses .~ — — — — = ]
[ Shot: 3107, Param. Tree 72 ]
L IDL: Max= 135.115, Min= —
“Tresca (post. dis., shaped.) 7
35.11292, Min= -2.4715374e-06 ]
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OH Local Stresses

Shot: 3107, Param. Tree 72

IDL: Max= 101.462, Min=-2.21267e-06
OHCoilStress, Lower_Hoop (normal, circular)
DCPS: Max=101.46222, Min=-2.2126733e-06

OH Local Stresses

Shot: 3107, Param. Tree 72

IDL: Max= 101.463, Min=-1.96337e-06
OHCoilStress, Lower_Hoop (post. dis., circ.)
DCPS: Max= 101.46116, Min= -2.2655195e-06

OH Local Stresses

Shot: 3107, Param. Tree 72

= IDL: Max=101.463, Min=-2.14320e-06
_OHCoiIStress, Lower_Hoop (post. dis., shaped.)
DCPS: Max= 101.46060, Min= -1.8280339e-06
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- Fault Starts: 1.1816719 [/~ ]
[ Fault Ends: 2.8186661 =
: OHtocatStresses—mMmMm M — — ——m— — — — — — :
[ Shot: 3107, Param. Tree 72 ]
_IDL: Max= 138.815, Min= -
esca (normal, circular) .
38.81547, Min= -4.7653421e-06 T
77777777777 T S
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time
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- Fault Starts: 1.1816719 [/~ ]
[ Fault Ends: 2.8186661 =
: OHtocatStresses—mMmMmM M — — ————m—— — — — — — :
[ Shot: 3107, Param. Tree 72 ]
__IDL: Max= 138.792, Min= -
— OHCoilStress, Mid_Tresca (post. dis., circ.) .
38.80172, Min=-1.7511451e-07 ]
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time
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- Fault Starts: 1.1816719 [/~ ]
- Fault Ends: 2.8186661 =
: OHtocatStresses—mMmMmM M — ————m—— — — — — — :
[ Shot: 3107, Param. Tree 72 ]
__IDL: Max= 138.793, Min= -
esca (post. dis., shaped.) .
38.79877, Min= -1.6369432e-07 ]
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OH Local Stresses

Shot: 3107, Param. Tree 72

IDL: Max= 104.454, Min=-5.22716e-06
OHCoilStress, Mid_Hoop (normal, circular)
DCPS: Max= 104.45382, Min=-5.2271564e-06

OH Local Stresses

Shot: 3107, Param. Tree 72

IDL: Max= 104.428, Min= -7.82908e-07
OHCoilStress, Mid_Hoop (post. dis., circ.)
DCPS: Max=104.43567, Min=-1.2213419e-07

OH Local Stresses

Shot: 3107, Param. Tree 72

= IDL: Max=104.428, Min=-6.72198e-07
_OHCoiIStress, Mid_Hoop (post. dis., shaped.)
DCPS: Max=104.43384, Min=-1.1683935e-07
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